oI 38 & % B o #f =
1 RERREGE -KE-ED)

E £
ORIFEE LD L
< BFIE, 14 TRIC T, 650585k 125k, 135%., 155% . 165% CHIMFEE O RIFHIRLY &
{ITpoTWD,
BT, 125%, 14 CTRIL T, 5k, 105%. 11, 135%. 155%. 175% CRIEE D[R4 s
JUEL o TWA,

OB TR, BB 1% EE->Tna,
QDA (FBFRS44EFE) L D i
Bl TRTOEERICBW T, BS54 E% EEl->Tnd,
b ENHLERNT, BT TIL125% T3.6cm, ZFTIXLE T2.2emE L 72> T 5,
@ENERBS RN
- RFEPEMEL T DL BFIT6 TR T, 135 T LRl TW2IENIE2E LY E
Z FEl>TWD, LFIF5 LR TRIL 2> TWDIENIE, &EESIEE Flal->Th,

*1 FElnh HEOYHE (cm)
ES I\ AR 2 AR | SRl 2047 7 WRIGAMEE|  #= ENES| 7=
H A B A—B |ca@omt] A—C 21| A—D

[ ShHER 5% 110.3 110.9 A 0.6 109.3 1.0] 110.7 A 0.4
[ 6% 116.7 116.3 0.4 115.3 1.4 116.7 0.0

/N 7 122.4 122.2 0.2 120.9 1.5] 122.6 A 0.2

o 8 128.1 127.6 0.5 126.7 1.4] 128.3 A 0.2

R 9 133.1 133.3 A 0.2 132.0 1.1] 133.6 A 0.5

¥ 10 138.1 138.5 A 0.4 136.6 1.5] 1389 A 0.8

| | 11 144.0 144.6 A 0.6 142.4 1.6] 145.1 A 1.1
oI 125% 152.3 151.5 0.8 148.7 3.6] 1525 A 0.2

# 1 13 159.8 159.2 0.6 156.8 3.0 159.7 0.1
14 164.8 164.8 0.0 162.7 2.1 165.2 A 0.4

= [ 158 167.7 167.5 0.2 166.3 1.4] 168.5 A 0.8
2 16 169.2 169.0 0.2 168.2 1.0| 169.9 A 0.7
17 170.1 170.4 A 0.3 168.9 1.2 170.8 A 0.7

[ SHEE SR 109.9 109.6 0.3 108.3 1.6] 109.9 0.0
6% 115.6 1159 A 0.3 114.3 1.3] 115.8 A 0.2

/N 7 121.2 122.0 A 0.8 120.5 0.7 121.7 A 0.5

o 8 126.8 127.7 A 0.9 125.5 1.3 1275 A 0.7

R 9 133.5 133.8 A 0.3 131.5 2.0l 133.5 0.0

1 10 139.8 139.0 0.8 137.9 1.9] 140.3 A 0.5

I | 11 146.7 146.0 0.7 144.5 2.2 1469 A 0.2
o 125% 151.7 151.7 0.0 149.7 2.0l 151.9 A 0.2

# 13 154.4 154.3 0.1 154.0 0.4 154.9 A 0.5
w14 156.2 156.2 0.0 155.7 0.5 156.7 A 0.5

= [ 15 156.9 156.6 0.3 156.7 0.2 157.3 A 04
24 16 157.0 157.4 A 0.4 156.5 0.5 157.7 A 0.7
17 157.4 157.0 0.4 156.2 1.2] 1579 A 0.5

TE) FEHn I, PRk 2144 A 1 B BIEEOWF# T D, IE AR IZOWTIHL,
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) ®E

ORI LD Lk
B TIL, 65 CTRIL T, Ti%k. 165% CRIAEE O RIFERIVEEZ T D,
B VEL B, 115K, 165%. 1TREC, BT E ORI LI 2 T D,
10 D12 TlE, 1S 1% B> T,

@ DA (BFFN544E ) LoD L
LT D15k T FES TWAIEN T, BBFIS44EE A EE>TW5,
L ENHHEEIL, B TIE1T#%T3.8kg, K TIE11% T2.6kgEL 2> T D,

OENERESIERIRYE A i
cAREEHEE TS B, TR, 135 T LB TWAIENL, 2EFEHEZ T
[>T D, ZF1E, 5k, 115%. 16 CTIRIL T, 175 C_EFE > TWAIENT, 2 E L)
fEZ T E]l> T,

*2 R ARE O EE (kg)
5 Y ok 21 4R BE| SRR 2045 BE jin BERsaEE] = ENES| =
A B A—B |c@oti)] A—C |[H21(D)| A—D

[ hHEE S 18.8 18.9 A 0.1 18.5 0.3] 19.0 A 0.2

[ 6% 21.3 21.3 0.0 20.5 0.8] 215 A0.2

/N 7 24.2 24.1 0.1 22.7 1.5|  24.1 0.1

o 8 26.7 27.0 A O0.3 25.6 1.1l 272 A0.5

Ea 9 30.2 304 A 0.2 28.5 1.7 30.6 A 0.4

|1 10 33.6 34.3 A 0.7 31.9 .71 34.2 A 0.6

i | 11 37.0 38.3 A 1.3 34.9 2.1l 384 A 1.4

T 125% 43.2 43.7 A0.5 39.9 3.3 442 A 1.0

* | 13 49.3 496 A 0.3 46.1 3.2 49.1 0.2
%14 54.2 55.0 A 0.8 51.3 29| 54.3 AO0.1

= [ 158% 58.9 59.0 A 0.1 55.6 3.3] 59.5 A 0.6

A 16 60.8 60.7 0.1 58.2 26| 61.3 A0.5

17 62.9 64.4 A 1.5 59.1 3.8 63.1 AO0.2

[ HEE 5% 18.6 18.5 0.1 18.0 0.6] 18.6 0.0
[ 6% 20.9 21.1 A 0.2 19.8 1.1l 21.0 A0.1

/N 7 23.3 23.7 A 04 22.4 09| 235 A0.2

o 8 26.0 266 AO0.6 24.8 1.2 265 A 0.5

=R 9 29.7 30.1 A 0.4 28.3 1.4 300 A0.3

¥ |1 10 33.8 33.9 A 0.1 32.1 1.7 34.1 A 0.3

I | 11 39.0 38.5 0.5 36.4 26|  39.0 0.0

[ 125% 43.5 43.8 A 0.3 41.4 2.1 438 A 0.3

2| 13 47.2 474 AN 0.2 46.5 0.7 47.3 A 0.1

B 14 49.5 499 A 04 49.1 0.4 50.2 AO0.7

= [ 158% 51.4 51.1 0.3 51.5 A 0.1l 51.6 A0.2

A 16 52.8 53.0 A 0.2 52.2 0.6 52.8 0.0

17 53.1 52.4 0.7 51.4 .71  52.9 0.2




(B)VE =/
ORI LD Lk
B A1, I TRIC T, 650 585% . 125%., 135%. 167% CRIFEE ORIV OTH
2o
<AL 13 CTRIC, bk, 107%., L1k, 175k TR ORI LR N TWVDIEDE,
HIAEBE 2 T > TunA,
C9END125E TIE, L% 1% LAl Tng,
QDAY (FEFN544E ) & D i
< BB T1X55%. 65% C FEIV, 71355k, 145% CRIC T, 155 T FES>TWAIENE, BF
FIS44EE 2 Eal>TuNd,
ELEDHAEERT. B T2 T2.0cm, 2+ TIE11E TL.3cmiEm< 2> TWa,
@2 [FH I EE D L
cRENEREE T HE BT S CTRIC T, 13 T EE> TWhAIENNT, 2
SEHIEZ FEl>TWD, 1355, Ok, 11, 155% CRIC THHIEN T, & E M
Z T o> TW\b,

<3 WL R DM (cm)
5 o | BR[| SR 204 S sl = ENES| =
7 A B A—DB |c@oti)| A—C |[H21(D)]| A—D

[ ShHERE 5 61.8 62.0 A 0.2 61.9 A0.1l 619 AO0.1

6% 64.8 64.7 0.1 64.9 A 0.1l 649 A 0.1

/)N 7 67.7 67.5 0.2 67.2 0.5| 67.7 0.0

- 8 70.3 70.1 0.2 69.8 0.5| 70.3 0.0

Eh 9 72.5 72.5 0.0 72.1 0.4 727 A0.2

# | 10 74.6 75.0 A 0.4 73.9 0.7l 75.0 A 0.4

5 | 11 77.1 775 AN 0.4 76.3 0.8] 776 A 0.5

B[ 12i% 81.1 80.8 0.3 79.1 2.0l 81.3 A0.2

7| 13 85.0 84.7 0.3 83.3 1.7  84.9 0.1

w14 87.9 88.1 A 0.2 86.4 1.5 88.1 A 0.2

= [ 155% 89.8 89.9 A 0.1 88.9 0.9] 90.3 A0.5

=2 16 91.1 90.9 0.2 90.0 1.1l 91.2 A0.1

| R 17 91.6 91.7 A 0.1 90.3 1.3 91.8 A 0.2

[ hHERE B 61.5 61.4 0.1 61.5 0.0 61.5 0.0

6% 64.4 64.5 A 0.1 64.0 0.4] 645 A 0.1

7N 7 67.1 675 A 0.4 66.8 0.3] 67.3 A0.2

2a 8 69.7 70.2 A 0.5 69.2 0.5 70.0 A 0.3

¥ 9 72.7 73.0 A 0.3 71.8 0.9 72.7 0.0

#% | 10 75.8 75.6 0.2 74.8 1.0l 759 A 0.1

I | 11 79.3 78.9 0.4 78.0 1.3 79.3 0.0

[ 125% 81.9 82.2  A0.3 80.9 1.0 82.1 A0.2

1 13 83.5 83.5 0.0 83.4 0.1] 83.7 A0.2

w14 84.5 84.6 A 0.1 84.5 0.0/ 84.8 A 0.3

= [ 155% 85.3 85.4 A 0.1 85.4 A 0.1| 853 0.0

gGE A 16 85.3 855 A 0.2 85.3 0.0/ 856 A 0.3

o 17 85.6 85.2 0.4 85.1 0.5 85.7 AO0.1
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